AP Calculus
7.8

Inverse Trig Functions

The inverse of a functionf ~1(x) exists only if f(x) is one to one.

Consider y = sinx

y = sinx is a periodic function. The inverse will not be a function unless we restrict the
domain.
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Graphs of other Inverse Trig Functions
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1. Evaluate , L-T/
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c) tan"11

avrctan(1)= e = "
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If two functions are inverses then

flg(x) =x

g(f») =y
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2. Evaluate sinm(arcsin 0.5) = 005
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3. Solve arcsin(2x — 3) = g
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Derivatives of Inverse Trig Functions

l -
Derivatives of the transcendental function f(x) = In x is the algebraic function :( (Z ) - X

Derivative of inverse trig functions are also algebraic.

y = arcsinx is the inverse of y = sinx
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4. Find the derivative

a) y =sin™! 2x U= 1%

b) y = arccosvx
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Integration of Inverse Trig Functions
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